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7 100kN/mM%{BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
s 1.00 | 0.00 ~ 478 59.63 | =nLS | 000 ~ 000 1.76 892 st 1.00 | 6.00 ~ 56.03 59.63 | TnLS | 500 ~ 503| 1.76 8.92
2 100kN/mM%EBZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
s 1.00 | 0.00 ~ 6.02 75.38 | #nLS | 0oo ~ 000|172 871 st 1.00 | 6.00 ~ 6.86 75.38 | TS | 500 ~ 686 1.72 871
3 100kN/mM%EBZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
s 1.00 | 0.00 ~ 6.20 77.80 | NS | 000 ~ 0.00| 1.70 8.61 st 1.00 | 6.00 ~ 720 77.80 | NS | 500 ~ 7.20)| 1.70 8.61
4 100kN/mM%EBZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
s 1.00 | 0.00 ~ 6.60 8323 | #nLS | 000 ~ 000 1.76 8.88 st 1.00 | 6.00 ~ 7.90 83.23 | =nLs | .00 ~ 790\ 1.76 8.885
5 100kN/m%E#BZ5| 100|000 ~ 190 129.34 |3mEBZD| — ~ — — — | 100kN/mMZ#B25 | 1.00 | 11.93 ~ 2537 | 129.34 |3m%E#BZ% - ~ — — —
s 1.00 | 1.90 ~ 9.69 100.00 | =nLst | 0.00 ~ 969\ 2.756 13.88 st 1.00 | 6.00 ~ 1193 100.00 | =nLst | 6.00 ~ 2537 2.75 13.88
P 100kN/mM%E#BZ5 | 1.00 | 000 ~ 334 153.61 |3mZE#BZB| 000 ~ 0.17] 3.08 15.59 | 100kN/mi%i#82% | 1.00 | 1059 ~ 3697 15361 |3mEBz2%| 3000 ~ 3697| 3.08 15.59
s 1.00 | 8834 ~ 1112 100.00 | =0t | 0.17 ~ 1112 3.00 156.16 st 1.00 | 6.00 ~ 10.59 100.00 | =nst | 6.00 ~ 3000 3.00 15.16
7 100kN/m%#8%2% | 1.00 | 000 ~ 357| 157.62 |3m&EBZB| 000 ~ 035| 3.18 16.09 | 100kN/mi%i#82% | 1.00 | 1055 ~ 3697 15762 |3m%EiBz2%| 25.00 ~ 3697| 3.18 16.09
ZhLst 1.00 | 367 ~ 1135 100.00 | TR | 035 ~ 11.35] 3.00 15.16 zhLlst 1.00 | 6.00 ~ 1053 100.00 | FnLS | 6.00 ~ 2500]| 3.00 15.16
3 100kN/m%E#BZ5 | 1.00 | 000 ~ 312 149.79 |3mEBZB| 000 ~ 005] 5.02 15.28 | 100kN/m%#825 | 1.00 | 1073 ~ 3594 149.79 |3m&EBZB| 3000 ~ 3594 3.02 15.28
ZhLst 1.00 | 312 ~ 1091 100.00 | TR | 005 ~ 1091] 3.00 15.16 zhilst 1.00 | 6.00 ~ 1073 100.00 | FnLS | 6.00 ~ 3000]| 3.00 15.16
9 100kN/m#E#Z5| 1.00 | 000 ~ 288 14565 |3mE#BZB| — ~ — — — | 100kN/m%E#EZ25 | 1.00 | 11.03 ~ 37.67| 145.65 |3mE#Bz3 - ~ — — —
ZhLst 1.00 | 288 ~ 1067 100.00 | Fhst | 000 ~ 1067 2.95 14.93 zhilst 1.00 | 6.00 ~ 1103 100.00 | TN | 6.00 ~ 3767 2.95 14.93
100kN/mM%EBZ 5 ~ ImEHAD ~ 100kN/ Mm% A5 ~ ImEBAD ~
ZhLst ~ ZhnLst ~ zhst ~ st ~
100kN/mM%EBZ 5 ~ 3ImEHAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhLst ~ ZhLst ~ st ~
100kN/mM%EBZ 5 ~ 3ImEHAD ~ 100kN/ Mm% A5 ~ ImEBAD ~
ZhLst ~ ZhLst ~ Zhst ~ st ~
100kN/mM%EBZ 5 ~ 3ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBAD ~
ZhLst ~ ZhLst ~ ZhLst ~ st ~
100kN/mM%E{BZ 5 ~ 3ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBAD ~
ZhLst ~ ZhLst ~ ZhLst ~ st ~
100kN/mM%EBZ 5 ~ 3ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBAD ~
ZhLst ~ ZhLst ~ Zhst ~ st ~




